Subtraction With Borrowing J

1.723-458 =
2. You had 602 apples. You used 378.
Apples left =

3. Subtract using column method:

514
-276

4. Tick the correct answer
642 - 389 =
263 |
253 ]
243 ]

5. Fill in the blanks:
H:6-4=__

T: 1 (borrowed) -7 =
0:2-8=__
Final Answer =

6. Solve and write in expanded form

Borrow if needed:
432 - 258 =
7. Circle the subtraction that needs borrowing

542 -231 (]

681 - 289 ]




—

|

500 - 100 |
8. A shop had 456 juice boxes and sold 278.
Boxes left =
9. Fill in the blanks:
Borrowing from tens
7 > 6 (borrowed 1)
0:12-8=___
T:6-4=___
Answer =

10. Subtract with borrowing

604
-279

11. Choose the correct one
806 - 479 =
327 ]
337 |
347 ]
12. Riya baked 725 cupcakes. She sold 468.

Cupcakes left =
14. Subtract and check

653 -274=

Check:  +274 =653




